

APPLICATIONS OF FOURIER TRANSFORM

Results :-

$$(i) \quad F_s \left(\frac{\partial^2 v}{\partial n^2} \right) = sV(0,t) - s^2 \bar{v}_s(s,t)$$

where $\bar{v}_s(s,t)$ is finite

sine transform of $v(n,t)$ w.r.t n

$$(ii) \quad F_c \left(\frac{\partial^2 v}{\partial n^2} \right) = - \left(\frac{\partial v}{\partial n} \right)_{n=0} - s^2 \bar{v}_c(s,t)$$

where $\bar{v}_c(s,t)$ is finite

cosine transform of $v(n,t)$ w.r.t n

$$(iii) \quad F \left(\frac{\partial^2 v}{\partial n^2} \right) = - \{ F(v) \}$$

where $F(v)$ is finite

transform of v w.r.t n

Note :- If $v(n,t)$ at $n=0$ is given, take

sine transform and if

$v_n(n,t)$ at $n=0$ is given, take cosine transform.

EX Solve $\frac{\partial v}{\partial t} = \frac{\partial^2 v}{\partial n^2}$, $n > 0$, $t > 0$

(i) $v(0,t) = 0$ i.e. at $n=0$, $v=0$

(ii) $v(n,0) = \begin{cases} 1, & 0 < n < 1 \\ 0, & n \geq 1 \end{cases}$

(iii) $v(n,t)$ is bounded

Ans Given P.O.E is $\frac{\partial v}{\partial t} = \frac{\partial^2 v}{\partial n^2}$ (i)
As $v=0$, $n=0$

Take finite sine transform both sides of (i)

$$\int_0^{\infty} \frac{\partial v}{\partial t} \sin s \cdot \sin s \cdot ds = \int_0^{\infty} \frac{\partial^2 v}{\partial r^2} \sin s \cdot \sin s \cdot ds$$

$$\Rightarrow \frac{d}{dt} \left[\int_0^{\infty} v \sin s \cdot \sin s \cdot ds \right] = F_s \left(\frac{\partial^2 v}{\partial r^2} \right)$$

$$\Rightarrow \frac{d}{dt} \bar{v}_s = S(t) - S^*(\bar{v}_s(r,t)), \bar{v}_s = 0$$

$$\Rightarrow \frac{d\bar{v}_s}{dt} = -S^*(\bar{v}_s(r,t))$$

Since sine
trans form $\Rightarrow v$

$$\Rightarrow \frac{d\bar{v}_s}{dt} + S^2 \bar{v}_s = 0$$

$$\Rightarrow \frac{d\bar{v}_s}{dt} + S^2 \bar{v}_s = 0$$

$$\Rightarrow \frac{d\bar{v}_s}{dt} + S^2 \bar{v}_s = 0$$

$$\Rightarrow \frac{d\bar{v}_s}{dt} = -S^2 \bar{v}_s$$

integrating

$$\int \frac{d\bar{v}_s}{\bar{v}_s} = - \int S^2 dt$$

$$\Rightarrow \log \bar{v}_s = -S^2 t + C', \quad C' \text{ is constant}$$

$$\Rightarrow \bar{v}_s = e^{-S^2 t + C'}$$

$$\Rightarrow \bar{v}_s = e^{C'} \cdot e^{-S^2 t}$$

$$\Rightarrow \bar{v}_s = C e^{-S^2 t} \quad [e^{C'} = C]$$

put $t=0$

$$\bar{v}_s = C e^{-S^2(0)}$$

$$\bar{v}_s = C$$

$$\Rightarrow C = \bar{v}_s(s, 0) = \int_0^{\infty} v(\omega, 0) \sin s \omega d\omega$$

$$\Rightarrow \int_0^1 v(\omega, 0) \sin s \omega d\omega + \int_1^{\infty} v(\omega, 0) \sin s \omega d\omega$$

$$\int_0^1 1 \cdot \sin s \omega d\omega + \int_1^{\infty} 0 \cdot \sin s \omega d\omega$$

$$\Rightarrow -\left(\frac{\cos s \omega}{s}\right)' + 0 = -\frac{1}{s} (\cos s - 1)$$

$$\Rightarrow \frac{1 - \cos s}{s}$$

Hence $\bar{v}_s = + \left(\frac{1 - \cos s}{s}\right) e^{-st}$

Further taking Inverse Fourier
Since transform

$$v(\omega, t) = \frac{2}{\pi} \int_0^{\infty} \frac{1 - \cos s}{s} e^{-st} \sin s \omega d\omega$$

EX 2 Solve $\frac{\partial v}{\partial t} = \frac{\partial^2 v}{\partial x^2}$; $n \geq 0$ with conditions

- (i) $v_x = -k$ (A positive constant k) at $x=0, t \geq 0$.
- (ii) $v=0$ at $t \geq 0, x \geq 0$

Given P.D.E is $\frac{\partial v}{\partial t} = \frac{\partial^2 v}{\partial x^2}$ — (i)

As $v_x = -k$ is given at $x=0$
as take Fourier cosine transform
on both sides of (i) \Rightarrow
 $\int_0^{\infty} \frac{\partial v}{\partial t} \cos s x dx = \frac{1}{s} \int_0^{\infty} \frac{\partial^2 v}{\partial x^2} \cos s x dx$

$$\Rightarrow \frac{d}{dt} \left(\int_0^{\infty} v \cos \omega t \, d\omega \right) = d F_c \left(\frac{\partial v}{\partial t} \right)$$

$$= d \left(-v \omega \right) = -s^2 \bar{v}_c$$

$$\Rightarrow \frac{d \bar{v}_c}{dt} = d(k) - d s^2 \bar{v}_c$$

$$\Rightarrow \frac{d \bar{v}_c}{\bar{v}_c} + d s^2 \bar{v}_c = dk$$

$$\text{I.F } e^{\int d s^2 dt} = e^{s^2 t}$$

\(\therefore\) the general solution of (ii) is

$$e^{s^2 t} \bar{v}_c = \int dk e^{s^2 t} dt + A$$

$$\Rightarrow e^{s^2 t} \bar{v}_c = \frac{dk e^{s^2 t}}{ds^2} + A$$

$$\Rightarrow \bar{v}_c = \frac{k}{s^2} + A e^{-s^2 t}$$

Also given $v(r, 0) = 0$

Taking Laplace cosine transform,

we get $\bar{v}_c(s, 0) = 0$

Put $t=0$ in (iii) we get $0 = \frac{k}{s^2} + A$

$$\Rightarrow A = -\frac{k}{s^2}$$

$$\therefore \bar{v}_c = \frac{k}{s^2} - \frac{k}{s^2} e^{-s^2 t} = \frac{k}{s^2} (1 - e^{-s^2 t})$$

Take inverse fourier cosine transform,
we get

$$v(n,t) = \frac{2}{\pi} \int_0^{\infty} \frac{k}{s} (1 - e^{-d^2 s^2 t}) \cos kn \, ds$$

Applications of Finite Fourier Transforms

Result:- For $0 \leq n \leq l$

$$(i) \quad F_s \left(\frac{\partial v}{\partial n} \right) = -\frac{\pi}{l} F_c(v)$$

$$(ii) \quad F_c \left(\frac{\partial v}{\partial n} \right) = \frac{\pi}{l} F_s(v) - v(0,t) + (-1)^p v(l,t)$$

$$(iii) \quad F_s \left(\frac{\partial^2 v}{\partial n^2} \right) = -\frac{\pi^2}{l^2} F_c(v) + \frac{\pi}{l} (v(0,t) - (-1)^p v(l,t))$$

$$(iv) \quad F_c \left(\frac{\partial^2 v}{\partial n^2} \right) = -\frac{\pi^2}{l^2} F_s(v) + (-1)^p \frac{\partial v(l,t)}{\partial n} - \frac{\partial v(0,t)}{\partial n}$$

Ex 1. Solve $\frac{\partial v}{\partial t} = \frac{\partial^2 v}{\partial n^2}$ using finite fourier

transform if $v(0,t) = 0$ and $v(l,t) = 0$
and $v(n,0) = 4n$ where $n \in (0,l)$; $t > 0$

Solution Given P.D.E is $\frac{\partial v}{\partial t} = \frac{\partial^2 v}{\partial n^2}$

Subject to $v(0,t) = 0$, $v(l,t) = 0$

and $v(n,0) = 4n$ where $n \in (0,l)$; $t > 0$

As $v(0,t)$ and $v(l,t)$ are given, so
we should take finite fourier

Sine transform on both sides of (i)
(Here $L=4$)

$$\int_0^4 \frac{\partial v}{\partial t} \sin \frac{5\pi n x}{4} dx = \int_0^4 \frac{\partial^2 v}{\partial x^2} \sin \frac{5\pi n x}{4} dx$$

$$\Rightarrow \frac{d}{dt} \left(\int_0^4 v \sin \frac{5\pi n x}{4} dx \right) = \left(\frac{\partial v}{\partial x} \sin \frac{5\pi n x}{4} \right)_0^4 - \int_0^4 \frac{\partial v}{\partial x} \left(\frac{5\pi}{4} \cos \frac{5\pi n x}{4} \right) dx$$

$$\Rightarrow \frac{d\bar{v}_s}{dt} = 0 - \frac{5\pi}{4} \int_0^4 \frac{\partial v}{\partial x} \cos \frac{5\pi n x}{4} dx$$

$$= -\frac{5\pi}{4} \left[\left(v \cos \frac{5\pi n x}{4} \right)_0^4 - \int_0^4 v \left(-\frac{5\pi}{4} \sin \frac{5\pi n x}{4} \right) dx \right]$$

$$= -\frac{5\pi}{4} \left[v(4,t) \cos 5\pi n - v(0,t) \cos 0 + \frac{5\pi}{4} \int_0^4 v \sin \frac{5\pi n x}{4} dx \right]$$

$$= -\frac{5\pi}{4} \left(0 + \frac{5\pi}{4} \int_0^4 v \sin \frac{5\pi n x}{4} dx \right)$$

$$\Rightarrow -\frac{5^2 \pi^2}{16} \bar{v}_s$$

$$\Rightarrow \frac{d\bar{v}_s}{dt} = \frac{-5^2 \pi^2 \bar{v}_s}{16}$$

$$\Rightarrow \frac{d\bar{v}_s}{\bar{v}_s} = \frac{-5^2 \pi^2}{16} dt$$

Integrating $\log \bar{v}_s = -\frac{s^2 \pi^2}{16} t + c'$

$\Rightarrow \bar{v}_s = e^{-\frac{s^2 \pi^2}{16} t + c'} = e^{c'} e^{-\frac{s^2 \pi^2}{16} t}$

$\Rightarrow \bar{v}_s (s, t) = c e^{-\frac{s^2 \pi^2}{16} t}$

Further to we get

$\bar{v}_s (s, 0) = c e^0 = c$

$\Rightarrow c = \bar{v}_s (s, 0) = \int_0^4 v(x, 0) \sin \frac{s \pi x}{4} dx$
 $\int_0^4 u(x) \sin \frac{s \pi x}{4} dx$

$\Rightarrow c = 4 \left[u \left(\frac{-\cos \frac{s \pi x}{4}}{\frac{s \pi}{4}} \right) \Big|_0^4 - \int_1^4 \left(\frac{-\cos \frac{s \pi x}{4}}{\frac{s \pi}{4}} \right) dx \right]$

$\Rightarrow c = 4 \left[\frac{-4 \times 4}{s \pi} \cos (\pi) + 0 + \frac{4}{s \pi} \left(\frac{\sin \frac{s \pi x}{4}}{\frac{s \pi}{4}} \right) \Big|_0^4 \right]$

$\Rightarrow c = 4 \left[\frac{-16}{s \pi} (-1)^s + \frac{16}{s^2 \pi^2} (\sin s \pi - \sin 0) \right]$

$\Rightarrow c = \frac{64 (-1)^{s+1}}{s \pi} + 0$

$\therefore \bar{v}_s (s, t) = \frac{(-1)^{s+1} 64}{s \pi} e^{-\frac{s^2 \pi^2}{16} t}$